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(m) (m) (kN/m) EE A (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
] 100kN/m#E#EZ % — -~ — —|3mEBZD -~ — - —| 100kN/mM%#E 2% — -~ — —|3mERBZB -~ - — —
Zh s 1.00| 000 ~ 504 62.79 | #hust | 000 ~ 0.00 | 1.67 8.46 Thilst 1.00| 500 ~ 5.40 62.79 | #hist | 500 ~ 5.40| 1.67 8.46
) 100kN/m#E#EZ % — -~ — —|3mEBZD -~ — - — | 100kN/mM%#E 2% — -~ — —|3mERBZB -~ - — —
Zh s 1.00| 000 ~ 6.79 85.88 | #hList | 000 ~ 6.79| 1.98 9.98 Thilst 1.00| 500 ~ 9.20 85.88 | #hlust | 500 ~ 920 | 1.98 9.98
3 100kN/mi%#8%%| 1.00] 000 ~ 0.44 106.47 |3mZE#B x5 -~ - - —| 100kN/mi%#E% 5| 1.00 [10.60 ~ 11.79 106.47 |3mZE#Bx3 -~ - - -
Zh s 1.00 | 044 ~ 822 100.00 | #hList | 000 ~ 822 | 2.25 11.36 Thilst 1.00 | 500 ~ 10.60 100.00 | #hLlst | 5.00 ~ 11.79 | 2.25 11.36
s 100kN/m#E#EZ % — -~ — —|3mEBZD -~ — - — | 100kN/mM%#E 2% — -~ — —|3mERBZB -~ - — —
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5 100kN/m#E#EZ % — -~ — —|3mEBZD -~ — - — | 100kN/mM%#E 25 — -~ — —|3mERBZB -~ - — —
Zh s 1.00| 000 ~ 6.33 7956 | #hlist | 000 ~ 000 1.74 8.79 Thilst 1.00| 500 ~ 7.40 7956 | #hiust | 500 ~ 740 1.74 8.79
6 100kN/m#E#EZ % — -~ — —|3mEBZD -~ — - —| 100kN/ Mm% 25 — -~ — —|3mERBZB -~ - — —
Zh s 1.00 | 000 ~ 547 68.23 | #hlust | 000 ~ 547 | 2.02 10.23 Thilst 1.00| 500 ~ 7.00 68.23 | #hlust | 500 ~ 7.00| 2.02 10.23
. 100kN/mi%#%%| 1.00] 000 ~ 0.65 109.65 |3mZE#x 3 -~ - - —| 100kN/mi%#E%%| 1.00 [1053 ~ 12.37 109.65 |3mZ#x 3 -~ - - -
Zh s 1.00| 065 ~ 843 100.00 | #hList | 000 ~ 843 | 2.20 11.11 Thilst 1.00 | 500 ~ 10.53 100.00 | #hLlst | 5.00 ~ 1237 | 2.20 11.11
8 100kN/mi%#%%| 1.00] 000 ~ 0.13 101.85 [3mZE#Bx 3 -~ - - —| 100kN/miZ#B% 5| 1.00 [12.41 ~ 12.80 101.85 [3mZE#Bx 3 -~ - - -
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9 100kN/mi%#%%| 1.00] 000 ~ 0.66 109.87 |3mZE#Bx 3 -~ - - —| 100kN/mM%#E% 5| 1.00 [11.34 ~ 13.31 109.87 |3mZE#BZ 3 -~ - - -
Zh s 1.00| 066 ~ 845 100.00 | #hList | 000 ~ 845| 2.40 12.13 Thilst 1.00| 500 ~ 11.34 100.00 | #h 1ot | 5.00 ~ 13.31 | 2.40 12.13
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